Ne ApPTHUKYZ HamMeHoBaHMe Kon
791-813-001 Tpoc peBepca
791-806-097 MnanHT

BoanT M6x16
791-813-005 [laHesb
791-806-069 Pouar rasa
MrudT
larba
791-813-010 PykosaTKa
791-806-097 MnanHT
MrudT
larba
larba
791-813-015 PHUAT NepeKJIYeHMS
791-813-016 3axmum
791-813-017 Baxum
llamba

791-813-019

[InacTrHa pPyJid BEPXHAL

791-813-020

[InacTmHa pPyJid HMXHAA

791-813-021

Cronka pyJnsa

Bogr M10x35

lanba

lanba

Tamxka M10

791-813-026

PyJib

791-813-027

Tpoc 3amHero xogma

lanba

lanba

791-813-030

Proiuarm

791-813-031

ABApPUMHEI BBEIKJIOUATEIb

791-806-072

Proiuar

791-813-033

Tpoc cuenseHusa

791-813-176

Tpoc rasa

e e s R SIS L SN S (YN NN N NG S [ () (e S B e I e e N N ORI CN ORI N [ O S

MomeJsb

MoTo6JiIoKk 6eHBUMHOBLINM AJIENA IO

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 1




ApPTHUKYZ HamMeHoBaHMe

=
o)
=

6007 HommmnHuk 6007

791-813-035 Kopnyc cuenjeHus

BonT M6x20

lManba

Marba

6202 HoommMnHuk 6202

Manba cuelJeHus

791-813-041 INCK CLeIlJIeHUus

MrmdT 6x40

MrjimHaT

791-813-044 Priuar

KosbsLuo

Ban nepexsouaTesnda

Bunka nepexJjmodaTesd

Mapuk

[IpyxMHa

791-813-050 Ban

Kosbeiuo

791-813-052 llecTepHa

Kopnyc

6203 NogmmnHMk 6203

Koo

Kopnyc nommnHmMKa

CanpHUk 20x35x7

Brynka

Kosnbuo

lanba

Tamxka M16

Brynka

lnoHka

wlw|v v o DI N NN N R R R e e e e e e e
e e R R R R N R N I Y S S R N N R T S 2 e S A e R R I el B

Kprmka

W
N

791-813-065 Ban c mecTepHen

e e N Y e e N e e R = E Y e e e e N I I I R I G R I R S

MoTOBJIOK 6eHBMHOBHIMI

MomeJsb

AJIENA II

Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTHUKYI HamMeHOBaHME Koxn
33 linoxuxa 1
34 llarBa 1
35 |791-813-068 llecTepHsa 1
36 llarBa 1
37 [IpokJjlamka 1
38 Kprimka 1
39 T'avika M12 1
40 OTrpaHUUUTENb 1
41 [IpyxmHa 1
42 llecTepHs 1
43 Brynka 1
44 Basn peBepca 1
45 Komnbuo 1
46 |791-806-023 [Ipobka 1
47 Tarika M8 1
48 IepxaTelJib TpoCa peBepca 1
49 Bunka pesepca 1
50 BonT M5x25 1
51 Bajy BUIIKU 1
52 MlrudT 1
53 Bunka clLeljieHus 1
54 Komnbuo 2
55 Basl BMJIKM CLEIJIEHUS 1
56 IepxaTejlb Tpoca CLeI. 1
57 L Ztoky 1
58 llarba 1
59 llarba 2
60 Boyr M12x25 1
1

791-813-140-1

Kopobka mnepenau B cbOope

MoTOBJIOK 6eHBMHOBHIMI

MomeJsb

AJIENA II

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 3




ApPTHUKYZ HamMeHoBaHMe Kon

MrnamHeT

T'avika M12

larba
791-813-097 llecTepus (4,5)
791-813-098 HommmnHmk 30205
791-813-099 [IpokJjlamka
791-813-100 Hommmnumk 30204
791-813-101 Ban

T'arvika M10

larba

larba

Bosgr M8x12

791-813-106

CanpHUK 25x47x7

791-813-107

Kopnyc pemykTopa

791-813-108

Kprnnka

791-813-098

NomgmmnHamk 30205

Boar M12x10

791-813-111 Ban
Boyr M10x40
lamba
Brynka
791-813-115 llecTepHa

791-813-098

NomgmmnHamk 30205

791-813-106

CanpHUK 25x47x7

791-813-118 [IpokJianka
791-813-119 Kpeiuka
arba
lanba
BonT M8x30
791-813-108 Kprmka

BosgT M8x12

wWlw|NdId N NN NN N N R R R R R R R R R e
RIS ololdlalol el ol vkl ololo|agdlo]oelw| o] ~]o]©@ o]0 W N = E

791-813-140-2

PenyxkTop B CbOOpe

N R R e e N e I I N N B B e I O I N B e B e el B S RO N N NG IS Y (S I O R S I S (S

MoTOBJIOK 6eHBMHOBHIMI

MomeJsb

AJIENA II

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




T,

8 91011

m-'_

Ne ApTHUKYI HamMeHOBaHME Koxn
2 |791-806-136 Hox JieBbIl 12
3 |791-806-137 Hox npaBulM 12
* 1791-813-100 dpesa B cbope 2
Mogpernb
MoTo65n0Kk GEeHB3MHOBHM
AJIENIA II

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 5




Ne ApPTHUKYZ HamMeHoBaHMe Kon
1 |170FTP-SP1 IBuUraTesb

2 1791-813-130 [IpokJjlamka

3 |791-813-131 Kprmka KIIII

4 larba

5 BuHT M8x25

6 |791-813-134 [IpokJjlamka

7 1791-813-135 Kprwto nparBoe

8 |791-813-136 KpoHWTEeVH KpBIJIa

9 Bosr M6x16

10 T'alika M6

11 |791-820-200 Komeco B cbBope mnparoe

12 |791-813-140-1 Kopobka mnepenau B cbOope

12 |791-813-140-2 PenykTop B CbOOpPE

13 Tamka M10

14 larba

15 llamba

16 |791-813-144 KpOHITENH KPEJIBEB
17 Boyr M10x25

18 BonT M10x35

19 Tamka M10

20 llamba

21 llamba

22 |791-813-151 Cuenka I

23 |791-813-152 Cuenka IT

DIPRIW W RIPIRPWRPIRERP WWWININDIEINDINDINRPRPIRERIRPIS DN IRSDPERRPIE

24 |791-813-153 MrudT
25 |791-806-097 JiikafpeZizli
26 |791-813-155 Mrudr 8x40
27 |791-806-090 COWHUK
28 Bosir M10x45
29 |791-806-095 MnamMeT
30 Bosr M6x16
31 Tamka M6
Mogpernb
MoTo6s0k OEeHBMHOBHM AJIENA 10

Technical department Assembly drawing

John Emerson Jr.

Engineer, chief designer

DYNAMIC DRIVE EQUIPMENT, USA | Page 6




Ne ApTHUKYI HamMeHOBaHME Koxn
32 |791-820-161 Bawmnep 1
33 Tamixka M10 2
34 llarBa 2
35 |791-813-155 MrupT 8x40 2
36 [791-806-097 MnameaT 2
37 Tarika M8 4
38 llarBa 4
39 MlarBa 4
40 Bosr M10x40 2
41 larba 4
42 Bosr M8x40 4
43 |791-820-201 Koneco B cbope JieBoe 1
44 KpoHWTENH 1
45 |791-813-174 Kprio Jieesoe 1
* 1791-813-175 KpoHIWTENH pelyKTopa 1
Mogpernb
MoTo6s0k OEeHBMHOBHM AJIENA 10
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 7




Ne ApTHUKYI HamMeHOBaHME Koxn
1 Tarika 16
2 llanba 16
3 llarBa 16
4 |1791-820-125 Ocb koJleca 2
5 1791-820-126 Ouck (5,8) 2
6 |00-4.00-19 Kamepa 4.00-19 2
7 101-4.00-19-T [Tokprmkxa 4.00-19 2
— WL 9 Bosr M10x20 16
( ;if o * 1791-820-200 Kosieco B cBope npaBoe 1
= :‘& * 1791-820-201 Koneco B cbBope JeBoe 1
L 1
'._“ . L e ®
B ot
o B
Mogpernb
MoTo6s0k OEeHBMHOBHM AJIENA 10
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 8




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |01-170-001 T'ojloBKa LUMJIMHIOpPa B cbope 1
2 101-168-002 linunpka kKapbopaTopa 2
3 101-168-003 Brynka @10x14 2
4 101-168-004 [IpokJjlamka T'OJIOBKM 1
5 101-168-005 nmiabkKa ITJITYLUTEJIS 2
6 |LR5YC Ceua sBaxmuraHusa LRS5YC 1
7 [01-168-007 BOJIT TOJIOBKM LMJIMHIOPA 4
8 |01-168-008 [IpokJylamka KJall. KPBIIKY 1
9 |01-168-009 Kpelllka KJIarnaHoB 1
10 |01-168-010 BosiT kJlallaHHOM KPBIIKM 4
11 |01-168-011 Tpybka oTBOHIAa I'as0B 1
Mogpernb
MoTo6s0k OEeHBMHOBHM ANEIA I

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 9




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |02-170-001 Iunmuap (Py4YH. CTapT.) 1
2 102-168-002 CallbHMK KOJIeHBaJla 2
3 102-168-003 llarBa ronm OoJT 2
4 102-168-004 BoJsT CHIMBHOT'O OTBEPCTUS 1
5 ]102-188-004 Peyle pmaTumka Macja 1
7 02-168-007 IaTumMk ypPOBHS Macja 1
9 |02-168-009 llecTepHsa per. OOOPOTOB 1
10 |02-168-010 HooumnHuk k/B 6205 1
11 |02-168-011 Maba 4
12 |02-168-012 Baxum 1
13 |02-168-013 Pouar Bajla per'. 0DOPOTOB 1
* 102-170-000 Habop npoxsanok 170F
Mogpernb
MoTo6s0k OEeHBMHOBHM ANEIA I
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 10




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |03-168-001 [IpoBbka (myr) 2
2 103-168-002 BonT M8x32 6
3 |03-168-003 Kprlika kapTepa 1
4 102-168-002 CaylbHMK KOJIeHBaJla 1
5 ]102-168-010 [MogmmnHMK KoJieHBajla 6205 1
6 |03-168-006 BTyJka 2
7 103-168-007 [IpokJjlamka kKapTepa 1
Mogpernb
MoTo6s10k 6EeHBMHOBHM ANEIA I

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 11




36.5
26.510.1

Ne ApTHUKYI HamMeHOBaHME Koxn
1 04-170-001 Kombuo nopmHeroe Z70x1,5 1
2 |04-168-002 Komblo CcTONOpPHOE 2
3 |04-170-003 [TopmeHs @70x49MMm 1
4 104-168-004 [lajylely NOpHHSA 1
6 |(04-168-0006 lMaTyH 1
7 104-168-007 lImoHKa MaxOoBUKA 1
8 |04-168-008SP1 KosenBag 1
Mogpernb
MoTo6s0k OEeHBMHOBHM ANEIA I

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 12




Ne ApTHUKYI HamMeHOBaHME Koxn
5 ]05-168-005 KpoHWTENH KOPOMBICEJI 1
6 |05-168-006 llTaHnTra TOJNIKATEeJS 2
7 105-168-007 Tapejika TOJIKATEJS 2
8 |05-168-008 PoTaTop 2
9 |05-168-009E CTomnop NPYXWHBEl BHII. KJI. 1
9a |05-168-0091 CTomnop NPYyXWHEl BII. KJI. 1
10 |05-168-010 [IpyXMHa KaraHa 2
11 |05-168-011 MaCJIOCBEMHEIM KOJIITAUEK 1
12 |05-168-012 Kitamasel Habop 1
13 |05-168-013 PacnpeneaJg 1
14 |05-168-014 Kopomeicio Habop 2
MoTo6s0k OEeHBMHOBHM ANEIA I

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 13




Ne ApTHUKYI HamMeHOBaHME Koxn
2 |07-188-008A BEIKJIIOUATENE 3aXUTaHUS 1
4 |07-168-004 Koxyx MaxoBUKa 1
7 |168F1A Craprep B cbope 1
16 |07-168-016 Pyuka cTapTepa 1
17 |241-604 Ilnyp craptrepa 4,5 MM 1
* |X16011-RK PeMKOMJIEKT cCTapTepa 1
Monmesnb
Mo K HBVHOBEHIN
oTO6JsIOK GEeHBMHO ANIENA 11
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 14




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |08-168-001 [IpokJlamka TeIJIOM30JIaTopa 1
2 108-168-002 TerJon30JaTop 1
3 108-168-003 [IpokJjlamka kapbopaTopa 1
4 108-168-004 [IpokJjlamka kopnyca B 1
5 |08-168KR-005 KapbopaTop 1
Monmesnb
Mo K HBVHOBEHIN
oTO6JsIOK GEeHBMHO ANIENA 11
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 15




Ne ApTHUKYI HamMeHOBaHME Koxn
10 |10-168-010 [Ipyx1Ha pHYaTra 1
13 |10-168-013 Pouar peryngaropa 1
14 |10-168-014 [IpyXMHa TAITU 1
15 |10-168-015 Tara peryjasaTopa 1
16 |10-168KR-001 [laHesb ynpaBJIEeHUSA 1
Mogpernb
MoT K HB3MHOBHIM
oTobJsIoOKk OGEeHBMHO ANIENA 11
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 16




Ne ApTHUKYI HamMeHOBaHME

Kon
1 |12-168-001 Kopnyc B/0 1
2 112-168-002 T'avika-6apamex 2
5 |AT802-HD160-01 OUIIBE TP BO3OYIIHBIN 1

MomeJsb

1, - . MoTo6JI0OK OGeHBMHOBHM ANIENA 11

Technical department
Engineer, chief designer
DYNAMIC DRIVE EQUIPMENT, USA

Assembly drawing

John Emerson Jr.

Page 17




Ne ApTHUKYI HamMeHOBaHME Koxn
2 |15-168-002 MarHeTo 1
3 |15-168-003 Kojimauek CBeUHOU 1
5 115-168-005 MaxoBUK 1
11 |15-168-011 KpellbuaTka MaxoBUKa 1
12 |15-168-012 XpamnoBuK cTapTepa 1
13 |15-168-013 T'alika MaxOBMKa 1
14 |04-168-007 InoHka MaxXoBUKAa 1
MonmeJsib
Mo K HBUHOBEHIN
oTo6JIOK OEeHBMHO ANIENA 11
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 18




Ne ApTHUKYI HamMeHOBaHME Koxn
1 |15-188-001P [IlpoBbra Bezobaka J42Mm 1
15-188-001M [IlpoBbra Bezobaka F42Mm 1
2 |114-168-002 OUIBTP TONNMBHEI 42MM 1
4 |14-168-004 Bak TONJIMBHHMI 1
5 ]15-188-005 liryuep 1
6 [15-188-006 Baxmum 2
7 |14-168-007 IlJIaHT TOIJIMBHEIN 1
8 112-168-003 IIymnmMTesb 1
9 |13-168-003 [IpokJjlamka ITJIYyWUTEJIS 1
10 |13-168-002 T'arika 1
Mogpernb
MoTo6s0k OEeHBMHOBHM ANEIA I

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 19




